BS5... SINGLE STATION SUBPLATE

BS501...
. BS. %. 01
Single subplate (blanking) ! !
. (5 )| CETOP5NG10 REREE
P/T/A/B closed
CETOP 5 SUBPLATES
BS501 / BS50 Car. VIl * 19 00 No variant
BS512.../BS513...
BS514.../ BS515... @ Serial No.
Cap. VIl « 20
BS516.../ BS517...
BS53... Capr. VIl « 21 * Pay attention please, use 810.5
BS530/31... Con Vil + 22 | these ;“srp;:;i in ?gpr:‘;i“‘:gg | |
- I I
BSVMP20.../ BS529... bar dynamic) @Y—FH B SEEN
Cap. VIl » 23 ! \ \\
BC536/28... Cap. VIl + 24 26.5 ® 9
BC541/*... / BC540... :
Capr. VIl ¢ 25 @ p @
SN +
BC530/32.../ BC550... RS
BC551... Capr. VIl « 26 ﬂ/‘\\ //‘\B I
BC507... / BC5107... S T /T\’\i/’ ’\i/’/ <7 <
BC53A.../ BC1006... A=t + n
Cap. VIl * 27 @ \é“\\
2
BM5**.../ BM550...
Car. VIl » 28 o
BM560... / BM570... _ = T =
BM580... Car.VIl e 29 | Weight: 0,5 Kg i
Fixing screws
CMP20... CARTRIDGE CATALOGUE '\K/I6—X1I5 tU'\éI) 29%125950002
CMP30... CARTRIDGE CATALOGUE =pate ( )
BS5...
. . BS. %. 02 BS. %. 06
Single subplate (blanking) ‘ | FF‘”“
(5 )| CETOPSNG10 | - LI |
P T B A P T B A
(= )| 02/03/04/05/06/07/08/09 S s
. 210.5 | b |
No variant T Lrrrt ) Loprd
. ‘ ‘ - . ‘ - P T B A P T B A
@ Serial No. n Il ‘ Il @ BS. X. 04 BS. x. 08
o \‘\ L ] \ ‘ ‘ ‘
R L
‘ ‘ I I I I
26.5 \OR 2-014/90 | T e || I Q I |
|
‘p A BS. X. 05 1747 BS. ¥. 09
@ Ty ¥ | | |
. y o i R EEnE NN EEREE
™~ I~ F -+ - I~ ~
e evel B
Y I A
€§ ‘ =
\
= 24 =
90
Weight: 1,2 Kg
Fixing screws M6x35 UNI 5931




BS5... SINGLE STATION SUBPLATE

BS512 (REAR CONNECTORS)

Single subplate

100

g 7 ’% ‘ P T B A ‘
(15 )| CETOPS5/ING10 © i o | e &
(127) | 1/2"BSP H ] |
rear connectors A g 'f
No variant ! g o ‘
£2"ggp
()| seraine . ) ¢@' 4+
Weight: 2,7 Kg - Fixing screws M6x25 UNI 5931
BS513 (REAR CONNECTORS)
100 ‘ - ‘
Single subplate —— " } ‘ L e ‘ ‘
46 42 s 8
il g = 1l P T B A
(15 )| CETOPS5ING10 G ) [ = L 2
(13 ) | auBsp H b late . .
rear connectors i 8 | g
gl s _ A I I A B
No variant 170 Wg L .
| e 0s %
@ Serial No. R W ' N 4
& i 4% i e
Weight: 3,8 Kg - Fixing screws M6x50 UNI 5931
BS514 (SIDE CONNECTORS)
I
Single subplate —— 2 Pl a
s T ) Tt - 1B
(15 )| CETOP5NG10 T 15 rE
el Tl e
1/2" BSP =TT i
. we-oR T
side connectors \ - Q}«} L 55
O N } A >
No variant a8 oI — -
SHA RO
@ Serial No. ' 3? Qﬂ?
PRI B %
O 11T © +f 7
Weight: 2,6 Kg - Fixing screws M6x20 UNI 5931
BS515 (SIDE CONNECTORS)
100 —
Single subplate — o P!—‘ \—lﬁ
_ 45 42 " T B
(15 )| CETOPS5/NG10 2 = ¢E
‘o b I | o ===
side connectors I o
guRgcdl
, o e T
No variant SR ST i
ok =f- n’ = A D
@ Serial No. : ‘#1& %}T{y E
SRR . "
RTINS 7 s o

Weight: 3,8 Kg - Fixing screws M6x50 UNI 5931




BS5... SINGLE STATION SUBPLATE

BS516 (conneEcTORS SIDE A AND B, REAR P AND T)

Single subplate ‘

CETOP 5/NG10 100 42 pT

1/2" BSP - Lz

rear and side connectors = = 10
=
7B

210.5

26.

No variant

Serial No. I

|
N
N
I
~
L]
5
n
o
o

125

105
96
54

Weight: 2,6 Kg !
Fixing screws M6x20 UNI 5931 !

BS517 (connEcTORS SIDE A AND B, REAR P AND T)

Single subplate |

CETOP 5/NG10 PoT

17 3/4" BSP =, - o
rear and side connectors 45

|

|
~N
vl
26.5

210.5

a
vl
o

No variant /@ 4

Y

i HHE

. |
Serial No. I T

M6x50 UNI 5931 —

g f | 16} ——
I il B
Ao - NS
Weight: 3,9 Kg e TV N
I N
Fixing screws F = A Q}
I |
SeEicxs

=
T

St

- | T ‘
© | ©) :::}i::i e |- | &)

BS53 (RepucTioN PLATE FROM CETOP 5/NG10 T0 CETOP 3/NG6)

Single subplate

CETOP 5/NG10 39.5 45

I

24.5 32 32.5 L
@ CETOP 3/NG6 13.5 21 21
No variant - & -1 | ad. s
i S 271 P4 )
. AR ) ‘ gl |7 N
@ Serial No. . @ 49y o e B
o= 1a7 4" T e e
© 11 o T
e o
Weight: 1,1 Kg J@XO, o et % !
1 [ = - —
Fixing screws
M6x30 UNI 5931 _31
=F




BS5... SINGLE STATION SUBPLATE

BS530/31

Single subplate
CETOP 5/NG10

30 = Connectors A and B side, P and T rear (all 3/4" BSP)
31 = Connectors A and B side, P and T rear (all 3/4" BSP)

M = Plastic knob
C = Grub screw

Setting range

1 = max. 50 bar (white spring)

2 = max. 140 bar (yellow spring)
3 = max. 350 bar (green spring)

No variant

Serial No.

JE UUUHE

BS530...
|
P T
P B T
T
—T
\_‘P
r |
‘ Q
‘ BS531...

Y

*The minimum permissible setting pressure depending on the spring:
see cartridge valve type CMP30...

BS530 (connecToRs A AND B sipe, P AND T REAR)

8 80 8
48 48 " 96
1/4”BSP Yo 48
| ] € s
© - —1—© .
[ A
I = P =
all | I Al e
I 1) [ |
2 m:a\/@ gwb:ﬁ§ o
T + T o ’ o
R :
P& o, 1
| &~ *@ 8
CH. 27 n -
~T|
i
L) X
- X g
€ CH. 17
Weight: 5,5 Kg
. Ch. 5
Fixing screws 234.5 c
M6x75 UNI 5931
BS5.1 (connecTors A AND B sipe, P AND T SIDE AND REAR)
B34.5 C M
Ch.
v
1 L 5 L %
g CH. 27 g 63%

61

122
|
1
D
T
]\L
105
i
I
|

61

1/4”BSP

O

max. 177. 5

29

64

29

68

W 119
o
5

8.5 80 8. 45.5 30. 5 26.

47

23.5

Weight: 6,7 Kg - Fixing screws M6x75 UNI 5931




BS5... SINGLE STATION SUBPLATE

BSVMP20 SINGLE STATION SUBPLATE WITH MAX. PRESSURE VALVE FOR SURFACE MOUNTING (E.G. ON TANK COVER)

10 80

Single subplate 45 24
CH.22
) . max. 91
VMP| | Max. pressure valve oy \,,
I M AT~
/2 TN
1/2" BSP connectors S et ) N - -
. L &
M = Plastic knob @} S ch.s
C = Grub screw - N
V = Handwheel E—— e
Setting range - - nax.210.5 —
1 = max. 30 bar (white spring) P T —

2 = max. 140 bar (yellow spring) wl i

(BN
3 = max. 250 bar (green spring) |, ‘ e
a9 [N | o
; - T - - Vg
No variant @—@\ | H ﬂ

35
o=
|
|
=
|
|
=

U [ UM

Serial No. 5.5 Qo
213.5
Weight: 3,1 Kg *The minimum permissible setting pressure depending on the spring:
Fixing screws M8x65 UNI 5931 see cartridge valve type CMP20...

BS529 SINGLE STATION SUBPLATE WITH MAX. PRESSURE VALVE FOR AD5I...

Single subplate P a8 B T
gle subp —
(5 ) | CETOPS5/NG10 A
1/2" BSP - P rear connector Ag T 1/27 BsA & M : i
1/2" BSP - A and B side connectors T ‘
1/2" BSP - T rear connector _J/ 5 T
3/4" BSP - T side connector , = e
Type of adjustment EQlN 1 )
Grub screw - _/ ﬁé} N
Setting range
2 = max. 150 bar (yellow spring) 28 =L 48
3 = max. 320 bar (green spring)
No variant /2" BSP
@ Serial No.
o
= o
«©
(@
[QV)
Weight: 4,5 Kg
Fixing screws M6x60 UNI 5931 45 43 o0
Tightening torque CMP.10... 90 10 o
60 = 70 Nm /6 + 7 Kgm N2 Foria? o =
M
M = Manometer connector (1/4* BSP) = '* > ch- 2l A © R
. [_ /‘F ?\ A\ ~ f\ - =+
IR =5k %ﬁ ©
g \ 5 ©
CH. 17 | = - | st o (@
-4 T 1
*The minimum permissible setting pres- B R, — %
sure depending on the spring: A L j '3 " ¥ T
see cartridge valve type CMP10... Cap. ¥ L]
Vil « 30 ‘ ‘ /
(@)
MAX. 58 110 - 28 32

3/47 BSP




